EECS3311 Software Design (Fall 2020)

Q&A - Project

Friday, November 20
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HOW Enemies ACf Section 7: Enemy Action in messages.txt

Section 6.13.5 Phase 5: Enemies Act in instructions PDF

Phase 1: Preemptive Actions
Phase 2: Non-Preemptive Actions (Starfighter seen or not)

(scenario 1) (scenario 2) (scenario 3)

case 3.2



Name:Grunt, Health:100, Regen:1, Armour:1, Vision:5.

.

I Preemptive Action: If the Starfighter passes, increase both current health and total health by 10. If the
K Starfighter uses a special, increase current health and total health by 20. Turn doe end in both cases.

Action when Starfighter is not seen: Moves 2 spaces left. If the Grunt is still on the board and is not
destroyed, fire a projectile which spawns directly to the left of the Grunt. The spawned projectile moves
left 4 spaces per turn and has a base damage of 15.

Action when Starfighter is seen: Moves 4 spaces left. If the Grunt is still on the board and is not
destroyed, fire a projectile which spawns directly to the left of the Grunt. The spawned projectile moves
left 4 spaces per turn and has a base damage of 15.

Name: Interceptor, Health:50, Regen:0, Armour:0, Vision:5.

—

—|Preemptive Action: If the Starfighter fires, attempt to move the Interceptor vertically directly to the row

the Starfighter is in before ending the Interceptor’s turn. More precisely about the vertical movement:

e Case 1. If the Interceptor and the Starfighter are in different columns, then:

o If the path to the row where the Starfighter is in is clear, then then move to that row (without
colliding with the Starfighter).

o If there is at least one occupying enemy blocking the path, move as close to the first one (so as to
avoid a collision). Along the way to this first occupying enemy, the Interceptor may collide with
projectiles.

o If there is no occupying enemy blocking the path, but there is one or more occupying projectiles
then the Interceptor collides with those projectiles.

e Case 2. If the Interceptor and the Starfighter are in the same column, then:

o If the path to the Starfighter’s location is clear, then collide with the Starfighter.

o If there is at least one occupying enemy blocking the path, move as close to the first one (so as tq
avoid a collision). Along the way to this first occupying enemy, the Interceptor may collide wit
projectiles.

o If there is no occupying enemy blocking the path, but there is one or more occupying projectiles
then the Interceptor collides with those projectiles before it may collide with the Starfighter.

Note for Case 1 and Case 2. The Interceptor may be destroyed along the path, due to collisions wit
projectiles, in which case it is just removed from the board without continuing moving along the path.

Action when Starfighter is not seen: Moves 3 spaces left.

Action when Starfighter is seen: Moves 3 spaces left.
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Acceptance Test atO15

Part 1 of 8

state:not started, normal, ok
Welcome to Space Defender Version 2.
->play(10, 30, 40,40,40,101, 101)
,)?state weapon setup, normal, ok

1:Standard (A single projectile is fired in front)
Health:10, Energy:10, Regen:0/1, Armour:@, Vision:1, Move:1l, Move Cost:1,
Projectile Damage:70, Projectile Cost:5 (energy)

2:Spread (Three projectiles are fired in front, two going diagonal)
Health:0, Energy:60, Regen:0/2, Armour:1l, Vision:@, Move:@, Move Cost:2,
Projectile Damage:50, Projectile Cost:10 (energy)

3:Snipe (Fast and high damage projectile, but only travels via teleporting)
Health:0, Energy:100, Regen:0/5, Armour:@, Vision:10, Move:3, Move Cost:0,
Projectile Damage:1000, Projectile Cost:20 (energy)

4:Rocket (Two projectiles appear behind to the sides of the Starfighter and accelerates)
Health:10, Energy:@, Regen:10/0, Armour:2, Vision:2, Move:0, Move Cost:3,
Projectile Damage:100, Projectile Cost:10 (health)

5:Splitter (A single mine projectile is placed in front of the Starfighter)
Health:0, Energy:100, Regen:0/10, Armour:@, Vision:0, Move @, Move Cost 5,
Projectile Damage:150, Projectile Cost: 70 (energy)

Weapon Selected:Standard qu#P ‘

—>toggle_debug_mode /Ej?
state:weapon setup, debug, ok
In debug mode.
Ch341 N afon ey
An_enemy is alwa ékely an Interceptor than Grunt.
[40, 0) (40 O) [101,101) [10F%101)

L7 Lém&e»g/zfaﬁn‘iéwfo(

See p.8 oF |ns’rruc’r|ons.



Acceptance Test at015 Part 2 of 8

->setup_next(5)
state:in game(0.0), debug, ok
Starfighter:

[0,S]->health:70/70, energy:70/70, Regen:1/3, Armour:1l, Vision:13, Move:10, Move Cost:3, location:[E,1]
Projectile Pattern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.
score:0

Enemy:

Projectile:

Friendly Projectile Action:
Enemy Projectile Action:
Starfighter Action:

Enemy Action:

Natural Enemy Spawn:

UHIOTMMOO >
wn

Reference: See values of attributes in messages.txt




Acceptance Test at015 Part 3 of 8

state:in game(0.0), debug, ok
Starfighter:

[0,S]->healtt§70/70, energf:70/70, Regeru‘:l,é., Armour:1, Vision:13, Move:10, Move Cost:3, location:[E,1]
Projectile Pattern:Standard, Projectit@ D
Power:Recall (50 energy): Teleport back to spawn.

score:0
Enemy:
Projectile:
Friendly Projectile Action:
Enemy Projectile Action:
Starfighter Action:
Enemy Action:
Natural Enemy Spawn:

12 3 45 6 7 8 910111213 14 1516

UHIOTMMOO®>
(%0

amage:70, Projectile Cost:5 (energy)

17 18 19 20 21 22 23 24 25 26 27 28 29 30

Energy regen done before pass
Enemies act T
Enemy spawn

—>pass —
state:1in game(l.0), degug, ok

Starfighter:
[0,S]->health\70/70, energy‘Z;>70, Rege‘:1/3) Armour:1, Vision:13, Move:10, Move Cost:3, location:[E,1]

Projectile Pattern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)

Power:Recall (50 energy): Teleport back to spawn.

score: @
Enemy:

[1,G]->health:100/100, Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,30]

Projectile:

Friendly Projectile Action: _f
Enemy Proj i ction: ¢
.Starfighter Agn’gn;l A _(h? ’
e Starfighter(id:0) passes at location [E,1], doubling regen rate. t
Enemy Action: d &
Natural Enemy Spawn: '—9 Q/é én
A Grunt(id:1) spawns at location [A,30]. = =
1 2 3 4 5 6 7 8 910 11 12 13 14 15 16 17 18 19 20 21 22 23

24 25 26 27 28 29 j{f i
6

S A/WJS

. t r0a/,

UHIOTMMONm@>
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Acceptance Test atO15

Part 4 of 8

state:in game(1.0), debug, ok
Starfighter: -

Power:Recall (50 energy):
score: @
Enemy:

Teleport back to spawn.

Projectile:
Friendly Projectile Action:
Enemy Projectile Action:
Starfighter Action:
The Starfighter(id:@) passes at location [E,1], doubling regen rate.
Enemy Action:
Natural Enemy Spawn:

" 'H\?

[0,S]->health: 70/70, energy: 70/70, Regen 1/3, Armour:1l, Vision:13, Move:10, Move Cost:3, location:[E,1]
Projectile Pattern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)

[1,G]->health: 100}’100 Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,30]
—

24 25 26 27

nergy regen done before pass
5, Grunt preempted by pass
- Regen then act

- Enemy spawn

\

A Grunt(id:1) spawns at location [A,30].
12 3 4 5 6 7 8 9101112 13 14 15 16 17 18 19 20 21 22 23
A
B_ _ _ _ _ _ _ _ _ _ _ _ _ _ o o o o oo oo
C_ _ _ _ _ _ _ _ _ _ _ _ o o o o o oo
D_ _ _ _ _ _ _ _ - _ - _ o - - o oo oo
ES _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ - - - - __
F_ _ _ _ _ _ _ _ _ _ _ _ _ o o_ oo
G _ _ _ _ _ _ o o - o o o o oo
H_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ - - 9 9 o o
I_ _ _ _ _ _ _ _ _ _ _ _ _ _ _ o o oo o o - _
J_ _ _ _ o _ o _ o o o o o o oo
t7
¢

erin game(2.0), debug, ok

Starfighter: =

[0,S]->health: 170/70, energy: 70/70 Regen:1/3, Armour:1, Vision:13, Move:1@, Move Cost:3, location:[E,1]
Projectile Pattern: Standard, Projectile Damage:70, Projectile Cost:5 (energy)

Power:Recall (50 energy): Teleport back to spawn.

score:0

/110, Regengl,) Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [A,28]
, Regen:1, Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, locationt[A,30]
Enemy Projectile Action:

-k
Starfighter Action:

The Starfighter(id:@) passes at location [E,1], doubling regen rate.
Natural Enemy Spawn:

A Grunt(id:1) l m£ I’ l 2
A Grunt(id:2) spawns at location [A,30].

A Grunt(id:1) moves: [A,30] —> [A,28]
12 3 456 7 8 9101112131415161718192021222324252627‘229
T T ') ne. >

A enemy projectile(id:-1) spawns at location [A,27]

[2,G]->health:100
Projectile:
[-1,<]->damage: 15, move:4, location:[A,27]
Friendly Projectile Action:

.

UHIOTMONT>
wn




Acceptance Test at015

Part 5 of 8

state:in game(2.0), debug, ok
Starfighter:
[0,S]->health:70/70, energy:70/70, Regen:1/3, Armour:1, Vision:13, Move:1@, Move Cost:3,
Projectile mtern:standa‘m ProjectiT& Damage: 70, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.

score:@
Enemy: b .
&G]->health%0/ , Rege Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfi
[2,G]->health:100/100, Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfi
Projectile: ° =

[-1,<]->damage: 15, move:4, location:[A,27]
Friendly Projectile Actient
Enemy Projectile Action:
Starfighter Action:

The Starfighter(id:@) passes at location [E,1], doubling regen rate.
Enemy Action:

A Grunt(id:1) gains 1@ total health.

A Grunt(id:1) moves: [A,30] —> [A,28]

A enemy projectile(id:-1) spawns at location [A,27].
Natural Enemy Spawn:
Grunt(id:2) spawns at location [A,30].
6 7 8

>

- Energy regen done before pass
- Grunt preempted by pass

_ - Regen then act

Enemy spawn

ghter:F, location:[A,28]
ghter:F, location: [A,30]

—7"

ate:1n game(3.0), m

Starfighter: r'S =

[0,S]->health:70/70, energy:70/70, Regen:1/3, Armour:1l, Vision:13, Move:1@, Move Cost:3, location: [E,1]
Projectile Pattern:Standard, Projectile Damage:7@, Projectile Cost:5 (energy)

12 3 45 9 19 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 Z6 27 29 3 Power:Recall (50 energy): Teleport back to spawn.

A_ _ _ _ _ _ _ _ _ _ _ _ _- - - - - - - _-_-_ _ _&, =z é_é score:0
B_ _ _ _ _ _ _ _ _ _ _ . _ _ _ 9_ o _._"r 0 °, =
C o L [1,G]->health , Regen:l, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,26]
D _ Ll L [2,G]->health .0, Regen:l, Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,28]
ES [3,I]->health:50/50, Regen:@, Armour:@, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[H,30]
F - - - -"-"-"-""=-"=-"=-"=--"=-"-~"=-"=-=- - - - = =~ - - - -~ rojectile —
G - - -"-"-"-=-=-=-------- - - -=- - - - =~ - - - = [-1,<]->damage:15, move:4, location:[A 23‘1
T i R [- damag ‘b’

’ -
g i T e e B A T A e iendly ProjectiTe Ac em

Enemy Projectile Action:

A enemy projectile(id:-1) moves:
Starfighter Action:
The Starfighter(id:@) passes at location [E,1], doubling regen rate.

Epemy Action:
A Grunt(id:1) gains 10 total healtzl 'pm I
A Grunt(id:2) gains 1@ total health
= ] | | l Vi 2.

[A,27] —> [A,23]

- [A,

Y spawns at location [A,25].

—> [A,28]

spawns at location [A,27].
==

A”enemy projectile(id
Natural Enemy Spawn:

A Interceptor(id:3) spawns at location [H,30].

1 2 3 4 5 6 7 8 91011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 27 29 30
o s L< <€6)< . _
ST T T T T T T s s m o m- - oo - oo - - oo

UHIOTMON®>




Acceptance Test atO15

Part 6 of 8

state:in game(3.0), debug, ok
Starfighter: -

Projectile Pattern:Standard, Projecti ge:70, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.
score:@

En

health:

Projec

[-1,<]->damage: 15, move:4, location:[A,23]

1-2,<]->damace:1% move:4, location:[A,25]

1-3 <]--damage 15 move:4, location:[A,27]
Friendly Projectitc Action:
Enemy Projectile Action:

A enemy projectile(id:-1) moves: [A,27] —> [A,23]
Starfighter Action:

The Starfighter(id:@) passes at location [E,1], doubling regen rate.
Enemy Action:

A Grunt(id:1) gains 10 total health.

A Grunt(id:2) gains 1@ total health.

A Grunt(id:1) moves: [A,28] -> [A,26]

A enemy projectile(id:-2) spawns at location [A,25].
A Grunt(id:2) moves: [A,30] —> [A,28]
A enemy projectile(id:-3) spawns at location [A,27].

Natural Enemy Spawn:
Interceptor(id:3) spawns at location [H,30].
12 3 4 5 6 7 8 9101112 13 14 15 16 17 18 19 20 21,22 2{ 24 25 T 9 30
P TE W w pn yn o oG

>

UHIOTmMoOON®>
wl

- o
[0,S]1->health:70/70, energy:70/70, Reg@rmour:l, Vision:13, Move:10, Move Cost:3, location:[E,1]
1

.
>hea1th\"g Regen;1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [A,26]
Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,28]
‘_]t?hea'lth 5%/50 Regen @, Armour:@, Vision:5, seen_by_Starfighter:F, can_see_Starfighter@F, location:[H,30]
k¥

- Energy regen done before pass
"7~ Grunt preempted by pass Yeﬂe/l
7 - Interceptor not preempted by pass
- Regen then act

- Enemy spawn
- Y Spawf

“wvant IM‘D’%

e:in game(4.0), debug, ok
Starfighter:
[0,S]->health:70/70, energy: 70/70 Regen:1/3, Armour:1l, Vision:13, Move:1@, Move Cost:3, location:[E,1]
Projectile Pattern:Standard, Projectile Damage:7@, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.
score:0

Enemy - -
[1,G]—>health*, Regentl, Armour:l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,24]
[2,G]->health:120/120, Regen:l, Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,26]
[3,I]->health:50/50, Regeni®, Armour:®, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:([H,27]
[4,G]->health:100/100, Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[G,30]
Projectile:
[-1,<]->damage:15, move:4, location:[A,19]
[-2,<]->damage:15, move:4, location:[A,21]
[-4,<]->damage:15, move:4, location:[A,23]
[-5,<]->damage:15, move:4, location:[A,25]
Friendly Projectile Action:
Enemy Projectile Action:
A enemy projectile(id:-1) moves: [A,23] —> [A,19]

A enemy projectile(id:-2) moves: [A,25] —> [A.211
The projectile collides with Grunt(id:1) at tocation [A,26], healing 15 damage.
Starfighter Action:
Enemy Action: l
AGrunt(id:1) gains 10 total hgalth %a@ I >
A Grunt(id:1) moves: [A,26] —> [A,24]
A enemy projectile(id:-4) spawns at location [A,23]
A Grunt(id:2) moves: [A,28] —> [A,26] Q Z
A enemy projectile(id:-5) spawns at location [A,25).
==
Natural Enemy Spawn:
A Grunt(id:4) spawns at location [G,30].
<
-

A enemy projectile(id:-3) moves: [A,27] ->((A,26]
The Starfighter(id:@) passes at location [E,1], doubhng regen_rate.
A Grunt(id:2) gains 10 t alth
A Interceptor(id:3) moves: [H,30] -> [H,27]
12 3 45 6 7 8 91011121314151617181920212223%252627282930

UHIOTMMON®W>
(Y]




Acceptance Test atO15

state:in game(4.0), debug, ok
Starfighter: - -
[0,S]1->health:70/70, energy:70/70, Regen:1/3, Armour:1, Vision:13, Move:10, Move Cost:3, location:[E,1]
Projectile Pattern:Standard, Projectile'ﬂa-mage:m, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.
score:0
Enemy: o °
[1 G]—>hea1th:1?0/13p, Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [A,24]
lZ,G]—>hea1th:1§/120, Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [A,26]
[3,I]->health:50/50,, Regen:@, Armour:@, Vision:5, seen_by_ Starfighter:F, can_see_Starfighter:F, location:[H,27]
[4,G]—>hea1th:160/100, Regen:1, Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [G,30]
Projectile:
[-1,<]->damage:15, mov/::4, location:[A,19]
[-2,<]->damage:15, mov::4, location:[A,21]
[-4.<]->damage:15. movi:4, location: [A,23]
[-5, <]--damag :15 move:4 location:[A,25]
Friepdly Projectite Action:
Enemy Projectile Action:
A enemy projectile(id:-1) moves: [A,23] —> [A,19]
A enemy projectile(id:-2) moves: [A,25] —> [A,21]
A enemy projectile(id:-3) moves: [A,27] -> [A,26]
The projectile collides with Grunt(id:1) at location [A,26], healing 15 damage.
Starfighter Action:
The Starfighter(id:0) passes at location [E,1], doubling regen rate.
Enemy Action:
A Grunt(id:1) gains 10 total health.
A Grunt(id:2) gains 10 total health.
A Grunt(id:1) moves: [A,26] -> [A,24]
A enemy projectile(id:-4) spawns at location [A,23].
A Grunt(id:2) moves: [A,28] -> [A,26]
A enemy projectile(id:-5) spawns at location [A,25].
A Interceptor(id:3) moves: [H,30] —-> [H,27]
Natural Enemy Spawn:
Grunt(id:4) spawns at location [G,30]. ° e !
12 3 45 6 7 8 910111213 14 15 16 17 18 19 20 21 4 25126 27 28 29 30

>

UHIOTMOUO®>
wi

Energy regen done before pass
- Grunt pr;En-pfed by pass [
- Interceptor not preempted by pass
- Regen then act

~7- Enemy spawn

Part 7 of 8

si;e.ln game(5.0), debug, ok

Starfighter: - - - o
[0,S]->health:70/70, energy:70/70, Regen:1/3, Armour:1, Vision:13, Move:1@, Move Cost:3, location:[E,1]
Projectile Pattern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)
Power:Recall (50 energy): Teleport back to spawn.
score:0
Enemy: -
[1,G]—>health:140/140, Regen®1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [A,22
[2,G]—>hea1th:!30/1ﬁ, Regenil, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [A,24
[3,I]—>hea1th:5.0/50.Regen:O, Armour:@, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [H,24]
[4,G]->health:110/110, Regenil, Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[G,28
[5,I1->health:50/50, Regeni®@, Armour:@, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[D,30]
Projectile:
[-1,<]->damage:15, move:4, location:[A,15]
[-2,<]->damage:15, move:4, location:[A,17]
[-4,<]->damage: 15, move:4, location: [A,19]
[-6,<]->damage:15, move:4, location: [A,21]
[-7,<]->damage:15, move:4, location: [A,23]
[-8,<]->damage:15, move:4, location: [G,27]
Friendly Projectile Action:
Enemy Projectile Action:
A enemy projectile(id:-1) moves:
A enemy projectile(id:-2) moves:
A enemy projectile(id:-4) moves: [A,23] —> [A,19]
A enemy projectile(id:-5) moves: [A,25] —> [A,24]
The projectile collides with Grunt(ili:1) at location [A,24], healina 15 damaae.
Starfighter Action:
The Starfighter(id:@) passes at location [E,1], doubling regen rate.

Toe 3 26

Interceptor(id:5) spawns at location [D,30].
12 3 6

7 8 9101112 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
< < < < G <
L Ll _l<_s<_=<._ 2@ _ - _ __

[A,19] —> [A,15]
[A,21] —> [A,17]

En :
A Grunt(idil) gains 10 total health.
A Grunt(id:, ains 10 total health.
A (id:4) gains 10 total health.
A Grunt :1) moves: [A,24] —> [A,22

A enemy projectile(id:-6) spawns at location [A,21].
A Grunt(id:2) moves: [A,26] -> [A,24]

A enemy projectile(id:-7) spawns at location [A,23].
A (Interceptor(id:3) moves: [H,27] —> [H,24]
A (‘:runtlls:zf moves: [G,301 = 16,281

A enemy projectile(id:-8) spawns at location [G,27].

>

UHIOTMMOUO >
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Acceptance Test atO15

m\e(s.e), demug, ok
Starfighter: -
[0,S]->health:70/70, energy@m Regen:1/3, Armour:1l, Vision:13, Move:10, Move Cost:3, location:[E,1]
Projectile Pattern:Stan Projectile Damage:70, Projectile Cost: 5 (energy)
Power:Reca 50 energy): Teleport back to spawn. -
score: 0
Enemy:
[1,G]->health:140/140, Regen:1, Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [A,22]
[2,G]->health:130/130, Regen:1, Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [A,24]
[3,I]->health:50/50, Regen:®, Armour:®, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[H,24]
[4,G]->health:110/110, Regen:1, Armour:1, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [G,28]
[5,I]1->health:50/50, Regen:®, Armour:@, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[D,30]
Projectile:
[-1,<)->damage: 15,
[-2,<] ->damage: 15,
[-4,<] ->damage: 15,
[-6,<] ->damage: 15,
[-7,<]-: damage:15 move:4,
[-8,< ->damage:15, move:4,
Friéndly Projectile Action:
Enemy Projectile Action:

move:4,
move:4,
move:4,
move:4,

location: [A,15]
location: [A,17] -
location: [A,19]
location: [A,21]
location: [A, 23]
location: [G,27]

nergy regen done before fire
- Grunt not preempted by fire
- Interceptor preempted by fire

A enemy projectile(id:-1) moves: [A,19] —> [A,15] - Regen then act
A enemy projectile(id:-2) moves: [A,21] —> [A,17]

A enemy projectile(id:-4) moves: [A,23] -> [A,19] - Enemy spawn

A enemy projectile(id:-5) moves: [A,25] —> [A,24

The projectile collides with Grunt(id:
Starfighter Action:

The Starflghter(ld 0) passes at location [E,1], doubling regen rate.

1) at location [A,24], healing 15 damage.

10 total health.
10 total health.
10 total health.

[A,24] —> [A,22]

A enemy pro]ectlle(ld -6) spawns at location [A,21].
A Grunt(id:2) moves: [A,26] -> [A,24]

A enemy projectile(id:-7) spawns at location [A,23].
A Interceptor(id:3) moves: [H,27] -> [H,24]
Grunt(id:4) moves: [G,30] —> [G,28]

A enemy projectile(id:-8) spawns at location [G,27].
Natural Enemy Spawn:

Interceptor(id:5) spawns at location [D,30].
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Part 8 of 8

;ate.m game(6.0), Aegug, u!

Starfighter:
[0,S]->health:70/70, energy@m, Regen:1/3, Armour:1l, Vision:13, Move:10, Move Cost:3, location:[E,1]
Projectile Pattern:Standard, Projectile Damage:70, Projectile Cost:5 (energy)
Power:Recall (50 energy):
score:@
Enemy:
[1,G]->health:
[2,6]->health:
[3,I]->health:
[4,G]->health:

->health:
6,1)->health:
Pr ile:

Teleport back to spawn.

140/140, Regen:1, Armour:1l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,20]
130/130, Regen:1, Armour:l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[A,22]
50/50, Regen:®, Armour:®, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [E,24]
110/110, Regen:1, Armour:l, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location: [G,26]
50/50, Regen:@, Armour:@, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[E,30]
50/50, Regen:®, Armour:®, Vision:5, seen_by_Starfighter:F, can_see_Starfighter:F, location:[F,30]

[-1,<]->damage: 15, move:4, location: [A,11] g“ J‘T’P

[-2,<]->damage:15, move:4, location:[A,13] . N

[-4,<]->damage:15, move:4, location:[A,15]

[-6,<]->damage:15, move:4, location:[A,17] l

,<]->damage:15, move:4, location: [G,23]
’% 9,%]->damage:70, move:5, location: [E,2]
-10,<]->damage:15, move:4, location:[A,19]
[-11,<]->damage:15, move:4, location:[A,21]
[-12,<]->damage:15, move:4, location:[G,25]
Friendly Projectile Action:
Enemy Projectile Action:

72

A enemy projectile(id: moves: [A,15] -> [A,11]
A enemy projectile(i moves: [A,17] —> [A,13]
A enemy projectile( i moves: [A,19] -> [A,15]
A enemy projectile(i moves: [A,21] -> [A,17]
A enemy projectile(id:-7) moves: [A,23] —> [A,22]
The projectile collides with Grunt(id:1) at location [A,22], healina 15 damage.
A enemy projectile(id:-8) moves: [G,27] —> [G,23]

Starfighter Action:
he Starfighter(id:@) fires at location [E,1].
A _friendly projectile(id:-9) spawns at location [E,2]. s’

Enemy Actiol
) fnterce tor(id;

A Intercetor(id'

[H,24] —> [E,24]
[D, 30] => 30]

moves :
moves :

Z{aﬂme}-‘fp&"
"-(1\7’ '7o-$=§
Tlvxez

),

A enemy pro]ectlle(m'—lo spawns at location [A,19].

A Grunt(:td.i! moves: [A,24] —> [A;22
enemy projectile(id:- spawns at location [A,21].

AgGrunt(id:4) moves: [G,28] —> [G,26]
A enemy projectile(i = spawns at location [G,25].

spawns at locatio
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